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1. fa) State and explain the characteristics of
statistics and also support your answer
with the importance of statistics.  5+4=8

Or
fb) Give the meaning of tabulation. Explain
the major objectives of tabulation. 2+7-9
2. fa) Calculate the 5D from the following
data : g
Class ferval @ 515 1535 2535 3545 4555
Frequency ; a 12 15 ! (]
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O

{b) Calculate Karl Pearson's coefficient of
correlation from the following data : 9

Price P22 24 IS PR A0 3T 34 36
Demand : 60 58 50 50 48 48 46 42

3. f(a) Calculate quantity index number from
the following data by using Fisher's

ideal methed : 9
2005 2007 |
Commeodity | Urit -
Qty | Price | Quy | Price
| Wheat kg || a3 10 4 14
Milk lit & 15 | 4 16 |
| Rice qtl 6 | 12 7 18
Fish kg | 2 20 3 25
Sugar kg | 3 10| & 12
Or

fb) State some uses of index number and
also explain the problems involved in
the construction of index number. 4+5=0

4. fa) Discuss the various types of forecasting. 9
Or

(&) The number of units of a product
exported during 2000 to 2007 is given
below. Fit a straight line trend to
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the data and find the estimate for the
year 2008 : g

Yewr ¢ 2000 2001 2002 2003 2004 2005 2006 2007
No.oflnits : 12 13 13 ] 1% 23 21 23

5. (a) State some objectives of sampling and
discuss the wvarious methods of
sampling. 3+6=9

Or

{b) The probability that a contractor will
get @ plumbing contract is 2/3 and
the probability that he will not get
an electric contract is 5/9. H the
probability of getting at least one
contract is 4/5, what is the probability
that he will get both the contracts? 9

o ok
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Answer all questions

1. Put a Tick (+) mark against the correct answer in the
brackets provided : 1=10=10

fa) In the development of statistical methods, the
greatest contribution is that of
fil economists | )
i) mathematicinns g
(i) businessmen [ )

fiv] scientists [ }

502
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(b) Coefficient of quartile deviation is calculated by

the formula

i) 0_:__1 s I
w2 )
"
fiv) %;J_—E,L (4

fe] Factor reversal test is suggested by
fij Laspeyres i %]
fii) Paasche o
(i) Fisher ( )
fiv) Bowley L 3
{d) Base-shifting method is strictly applicable only if
the index numbers satisfy
{fi) circular test { )
fiij trend test { )
fiii) parallel test [ )

(iv) ratiotest ()

Be/BS-603 /503



| 3)

jel “A time series consists of statistical data which
are collected, recorded, observed over successive
increments.” Who coined the definition?

fi} Morris Hamburg (1
i) Ya-Lun Chou | ]
fii) Patterson { )

fiy) Levinand Rubin ([ )

(! Which is the most commonly used method
for arriving at estimates of the cyclical
movements of time series?
fi) Residual method ( )

(i) Direct method (.
{iii) Reference cycle analysiz method {( )
fiv) Harmonic analysis method 1.

fg) ___ help in making quick and accurate
comparison of data and bring out hidden facts.
fii Tables ()
fii) Circles [ ]

i) Graphs ()
fiv) Diagrams |
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(R} The classical school of thought on probability
assumes that all possible outcomes of an
experiment are

(il equally likely I )

fii) mutually exclusive { )

(i) mutually exclusive and equally likely | )
(iv) None of the above (.

fij Additional theorem states that if two events A and
B are mutually exclusive, the probability of
occcurrence of A and B is given by

it P{A)+P(B) ()
fi) P(B)xP(A) { )
fiii) P(A)-P(B) (i )

fiv) P{A}xF(B)+F(AB) (I
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(i) 10 students are to be selected from a class of 60,
for analysing the spending habits of students.

The investigator would select 10 students, who
in his opinion are representative of the class.
What type of sampling method is used by the
investigator?

(i) Probability { |

fii) Convenience | )

fiii) Quota R
fi) Judgement e 3

2. Indicate whether the following statements are True or
False by putting a Tick () mark in the brackets
provided : 1%5=5

fa) The notion of statistics was originally derived
from the word ‘state’.

True ( )  False ( )

Be/B5-603/503



| &)

fb) Regression coefficient of ¥ on X measures
the changes in X corresponding to & unit
change in Y.

True | )  False [ )

fe) Secular trend refers to the long-term movement.

True | ) False | )

{d) The process of splicing is used to adjust the data
for increase in price level

True | ) Faise | )

e} The probability of obtaining a 3 and a 4 in a
throw of two dice is 2/30.

True | ) False | )
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3. Write short notes on the following : 2x5=10

fa) Statistics
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(b} Scatter diagram
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fc) Deflating
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fdl Link-relative method
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fe] Probability
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